APPC


Examination VII

Answer each question and document your solution. Use nouns, verbs, and    –ly words.

1. Locate the Center of Mass of this system of particles.
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2. Derive one of the following:
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3. How, and why, did Dennis get sent to ISS?


4. Show the solution to one of the following from the APPB 1998 MG worksheet. Select from: 6, 9, 38, 40, 62, or 68.


5. What parameters did you adjust in “A Super IP Experience?” Why?


6. Identify the value of g from this data set, collected from a pendulum located off of the Earth. Where was the data collected?


	Length (m)
	Period (sec)

	2.27
	7.33

	1.95
	6.79

	1.62
	6.19

	1.363
	5.68

	0.996
	4.85

	0.692
	4.04

	0.374
	2.97


7. An object of mass m moves with velocity v toward a stationary object of the same mass. After their impact, the objects move off in the directions shown in the diagram below. Assume the collision is elastic. 
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Using the following equations, derive the relationship between angles A and B.
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